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Year 6

Mathematics
Arithmetic

Multiplying and Dividing by 10, 100 and 1,000 – paper 5

First name

Middle name

Last name

Date of birth Day Month Year

School name
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1.036 ÷ 1000 = 

7.005 ÷ 10 = 

4.638 x 1000 = 

1 mark

1

1 mark

2

1 mark

3
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20.8 ÷ 10 = 

78.2 x 100 = 

92.6 x 10 = 

1 mark

4

1 mark

5

1 mark

6
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334 x 100 = 

7711 x 10 = 

180 ÷ 1000 = 

1 mark

7

1 mark

8

1 mark

9
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7.5 ÷ 10 = 

904.0 ÷ 100 = 

73.21 x 1000 = 

1 mark

10

1 mark

11

1 mark

12
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6.016 ÷ 1000 = 

2.474 x 10 = 

8.904 x 100 = 

1 mark

13

1 mark

14

1 mark

15
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15.7 ÷ 1000 = 

71.9 x 1000 = 

95.1 ÷ 100 = 

1 mark

16

1 mark

17

1 mark

18
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756 ÷ 10 = 

6937 x 1000 = 

1 mark

19

1 mark

20

1 mark

21 874 ÷ 100 = 
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732.1 x 10 = 

1 mark

23

24

39.6 ÷ 100 = 

1.4 x 100 = 

1 mark

22

1 mark

Total
marks
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2.474 x 10 =  24.74

6.016 ÷ 1000 =  0.006016

8.904 x 100 =  890.4

15.7 ÷ 1000 =  0.0157

71.9 x 1000 =  71,900

95.1 ÷ 100 = 0.951

756 ÷ 10 =  75.6

6937 x 1000 =  6,937,000

874 ÷ 100 =  8.74

39.6 ÷ 100 =  0.396

1.4 x 100 =  140

732.1 x 10 =  7,321

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

1.036 ÷ 1000 =  0.001036

7.005 ÷ 10 =  0.7005

4.638 x 1000 =  4,638

92.6 x 10 =  926

78.2 x 100 =  7,820

20.8 ÷ 10 =  2.08

334 x 100 =  33,400

7711 x 10 =  77,110

180 ÷ 1000 =  0.18

73.21 x 1000 =  73,210

7.5 ÷ 10 =  0.75

904.0 ÷ 100 =  9.04
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Answers

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

11.

12.


